
LPS400 Packing List

Note: Before assembly the scale, please carefully check
the below parts list. 

LPS400 Packing List

Note: Before assembly the scale, please carefully check
the below parts list. 

Parts list
1. Scale body with indicator x 1 

2.Indicator mounting bracket (inc. 10° cushion) x 1

3. Indicator 60° cushion x 2

4. ∅6 expansion tube x 2

5.M3x8 screw x 2
6. ST4x20 screw x 2

7. ∅3 washer x 4
8. M3 nut x 2

Manuals
1. User manual x 1

 

Parts list
1. Scale body with indicator x 1 

2.Indicator mounting bracket (inc. 10° cushion) x 1

3. Indicator 60° cushion x 2

4. ∅6 expansion tube x 2

5.M3x8 screw x 2
6. ST4x20 screw x 2

7. ∅3 washer x 4
8. M3 nut x 2

Manuals
1. User manual x 1

 


	页 1

